Supplementary material
Table 1. A summary of the pre-exercise testosterone regression results (N = 97).
	

	Model 1
Right 2D:4D
	Model 2
Left 2D:4D
	Model 3
Right-Left 2D:4D

	
	Adj. r2 = -.01z, F(1,95) = .00, p = .99
	Adj. r2 = -.01, F(1, 95) = .45, p = .50
	Adj. r2 = -.00, F(1,95) = .84, p = .36

	
	β
	t
	p
	β
	t
	p
	β
	t
	p

	2D:4D
	-.00
	-.02
	.99
	.07
	.67
	.50
	-.09
	-.92
	.36



Table 2. A summary of the pre-exercise testosterone regression results for less physically active participants (below median; N = 48).
	

	Model 1
Right 2D:4D
	Model 2
Left 2D:4D
	Model 3
Right-Left 2D:4D

	
	Adj. r2 = .12, F(2,45) = 4.29, p < .05
	Adj. r2 = .12, F(2,45) = 4.24, p < .05
	Adj. r2 = .13, F(2,45) = 4.36, p < .05

	
	β
	t
	p
	β
	t
	p
	β
	t
	p

	Basal cortisol
	 .39
	2.84
	< .01
	.39
	2.87
	< .01
	.37
	2.52
	< .05

	2D:4D
	-.04
	-.31
	.76
	.01
	.03
	.97
	-.07
	-.46
	.65



Table 3. A summary of the pre-exercise testosterone regression results for more physically active participants (above median; N = 35).
	

	Model 1
Right 2D:4D
	Model 2
Left 2D:4D
	Model 3
Right-Left 2D:4D

	
	Adj. r2 = .11, F(2,32) = 2.98, p = .07
	Adj. r2 = .08, F(2,32) = 2.55, p =.09
	Adj. r2 = .07, F(2,32) = 2.32., p =.11

	
	β
	t
	p
	β
	t
	p
	β
	t
	p

	Basal cortisol
	.45
	2.44
	< .05
	.38
	2.25
	< .05
	.37
	2.14
	<.05

	2D:4D
	-.21
	-1.14
	.26
	-.12
	-.73
	.47
	-.07
	-.38
	.71



 Table 4. A summary of the testosterone change regression results (N = 97).
	

	Model 1
Right 2D:4D
	Model 2
Left 2D:4D
	Model 3
Right-Left 2D:4D

	
	Adj. r2 = -.01, F(1,95) = .32, p = .58
	Adj. r2 = -.01, F(1,95) = .29, p = .59
	Adj. r2 = -.01, F(1,95) = .00, p = .99

	
	β
	t
	p
	β
	t
	p
	β
	t
	p

	2D:4D
	-.06
	-.56
	.58
	-.06
	-.54
	.59
	.00
	.01
	.99



[bookmark: _Hlk20669827]Table 5. A summary of the testosterone change regression results for less physically active participants (below median; N = 48)
	

	Model 1
Right 2D:4D
	Model 2
Left 2D:4D
	Model 3
Right-Left 2D:4D

	
	Adj. r2 = .06, F(2,45) = 2.46, p = .09
	Adj. r2 = .06, F(2,45) = 2.59, p = .09
	Adj. r2 = .06, F(2,45) = 2.57, p = .09

	
	β
	t
	p
	β
	t
	p
	β
	t
	p

	Cortisol change
	.31
	2.22
	<.05
	.30
	2.13
	< .05
	.29
	2.06
	< .05

	Digit ratios
	-.03
	-.17
	.86
	-.08
	-.53
	.59
	.07
	.48
	.63



Table 6. A summary of the testosterone change regression results for more physically active participants (above median; N = 35).
	

	Model 1
Right 2D:4D
	Model 2
Left 2D:4D
	Model 3
Right-Left 2D:4D

	
	Adj. r2 = .03, F(2,32) = 1.49, p = .24
	Adj. r2 = .02, F(2,32) = 1.35, p = .27
	Adj. r2 = .04, F(2,32) = 1.73, p = .19

	
	β
	t
	p
	β
	t
	p
	β
	t
	p

	Cortisol change
	.25
	1.41
	.17
	.28
	1.64
	.11
	.25
	1.46
	.16

	Digit ratios
	-.09
	-.54
	.59
	.02
	.13
	.90
	-.15
	-.85
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